NOM & PIrENOIM : vrereerenrssnssnsssssssessessersersessnsssnssnssnsnsses

Interrogation Sujet A

Effectuer les calculs suivants :

-4 24 49
3 —_

A=23 B =" x=

L7 35 18

C=5-32%x3+(17-9-(22-5x%x2-1)))

NOM & PIrENOM & vreremrenrssnssnsssssssessesserserssssnsnsnssnssnsssses

Interrogation Sujet B

Effectuer les calculs suivants :

A=—-15—[2 4 (=5) — (=2 + 3,5)] x2

7 11 3 —16
B=—+—X— C =2
12 15 14
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Interrogation Sujet A

Effectuer les calculs suivants :
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Interrogation Sujet B

Effectuer les calculs suivants :

A=—-15—[2 4 (=5) — (=2 + 3,5)] x2

2
7 11 _ 3 —3t6

B = — = — X — C = 33
12 15 14 Z_5



-1, -4 -1 +3 -1 12 13
A — 3 — 3 1 _ 3 1x3 __ 3 3 — _3
7, 777 7 _7X10 7 7 70 T —63
10 10 1 10 1X10 10 10 10
_ —13 , -63 _ —13 _ 10 __  —1x13x2x5 _ 130
3 10 3 7 —-63 3x(-1)xX3x7x3 189
_ 24 49 _ 6X2X2X7X7 _ 28

B =

35 18  5x7x6%x3 15

C=5-32x3+17-9-(22-5%x2-1)))
5-32x3+(17-9-11))
=5-3(2x3+(-3))=5-3(-2)=5+6=11

Sujet B

A=-15-[2+4 (=5) — (=2 + 3,5)] x2

= —15-[2-5-(1,5)]2
= —15-(-45)2=-15+9=75

7 11 3 7 15 3

7X5%X3X%3
B=—+—X— =—X—X—=

12 " 15 7 14 12 711

_ 5x3 15
T 2x2x11x2 88

2 2 6 2 6X3 2 18
(= 3°_T3"_T5'ns_ 305
— 3. T 35 T 3 5xa — 320
4 1 4 1X4 4 4
16
3 16 -17 _ 16 4 64
- 7 3 7 4 37 -1x17  -51

14 2X3X2X11X2X7




